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Somerset Bridge Primary School
Aspire - Brave - Care - Collaborate

The four operations used for Maths at
Somerset Bridge Primary in Year 4.



Year 4

Adding numbers with up
to 4 digits.

Again this showld start
with the children using
dignes to support them
with lots of discussion
abaut the value of each
digit.

Uze ‘regrouping’ to
describe rearranging o
colurmmn.

Use the vocabulary of
‘Addend, addend and
suim.’

1+7=8
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Part-part-whaole reasoning
ar the part-whole model
iz the idea that numbers
can be split into parts.

Children using this model will zee the relationship betwesn the whole number and its
component parts, helping learners to make the connections betwesn addition and subtraction

Uzing the bar to find
missing digits.

It is important for children
to wse the bar in this way
to encourage the use of it
to oid with probiem
solving.

This is not a form of getting the correct answer but helping to guide children to

the correct operation.

Alison jogs 6,860 metres and Calvin
jogs 5,470 metres, How far do they

jog altegether?

6860m 5470m




To subtract with numbers

up to four digits including
suchanging when children
ArE SeCUre.

Again, children need o
s dienes b support dhelr
learning.

Uise the vocabulary of
Tinwend, subtrabend and
difference.”
8-1=7
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Part-part-whole reasoning
ar the part-whale model
it the idea that numbers
can be split into parts.

As with ‘oddition’ use the
denguege of regrouping”
wheEn rearranging o
calivmn.

Children wusing this model will see the relationship betwesn the whole number and it

component parts, helping learners ta make the connections betwesn addition and subtraction

Using the bar madel ta
find missing digies.

It iz importont for children
tor wise Pl bor in this way
to #ncowrege the wse off it
o arid! wiith problem
saiving.

There &e 3,180 bodksin a shop. 1,228 are in Englsh and
the rest are in French. H owmany Franch books are
them?

T 7




Use arrayes to maodal
multiplication. frrays are
arranged in columns and
rows. They show factors
are com mutative.

LUse the wocabulory of
st e IXITECH
multiplicand and
product.* o909 ®
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Sncioe frcior proidist
Children to know all times
tables to 12 & 12, 314
= 3
Ladder mathad to be used
with children multiplying 12 {3 * 41
bath twa and thres digits 30 [3 x m:'
by a asedigit number.
+900 (3 x300)
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kMultiplying using the har.

A compatier cagts B times & much as a
televigion The televigion cogts E429. Ciol o thee
ey iFlL]

How much does the computer cogt?




Use the vocabulary of

‘Dividend, divisor and H T
quotient.”
32+4=8 0/ 2 (5[n
arou.:‘ Qavinoe Gutiere 5 I l 2 : 6
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Dividing up to theee dige 0 e
numbers by & one digit ::
number using short
division.
Only when the children
are secure with dividing a
twn digit number should
they move anta a 3 digit
number.
Use dienes ta show 140+ 10 = 22 groups of 10 14 groups of 10

understanding of division.

B

Dividing using the bar,

Desmond and Melissa collect cards They
have 192 cardsim all M elssa hasthvee

fimes as many cards as Desmond How

many cards does Desmeond have?




